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,1;@)() = xzcos(x) + sin(2-x) f(t) = tz + 2t + 4 /gv(t) =3 sin(t) + 7

X =—7,—7t + 0.1..7 t=—5.—5 + 0.1..10

f(x) = f(t) = g(t) =
-9.87 7.636 9.877
-9.006 4.845 9.947
-8.091 2.19 9.988
-7.149 -0.298 10
-6.206 -2.596 9.981
-5.282 -4.681 9.933
-4.399 -6.535 9.855
-3.574 -8.145 9.748
-2.821 -9.503 9.615
2.1 5 -10.604 9.455
-1.569 -11.448 9.27
-1.082 -12.04 9.063
-0.691 -12.389 8.836
-0.392 -12.5089 8.59
-0.181 -12.416 8.328
-0.05 -12.129 8.052
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f(x,y) = sin(y2 —+ x)—l— cos(x2 —+ y)

i = 0..40 i=0..40

xi::—2—|—0.1-i yj::—2—|—0.l-j




. (2 2)
Z{X,y) == sin\x —+ ¥
1= 0..20

X.=—1+ 0.1-1 y.=—1 + 0.1-]




